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2 5 3 1 1.29

2532 1.25

2533 1.20

2534 1.21

2535 0.93

2536 0.94

2537 1.01

2538 1.15

(1.29D.29)  100 = 100.00

(1.25D.29)  100 = 96.89

(1.2Oh.29)  100 = 93.00

(1.2M.29) 100 = 93.79

( .93/1.29)  100 = 72.09

( .94/1.29)  100 = 73.00

(1.01)/1.29)  100 = 78.29

(1.15A.29)  100 = 89.15
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It =
EPif
- 1 0 0

; -

. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . (12.2)

5au I 155 I 235

I2539  =
(50+150+35)

(25+100+30)  x loo

235=-
155

x 100 = 151.5
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CPitQi
It  = CPioQi  x 100 . . . . . . . . . . . . . . . . . . . . . . (12.3)

I2539  =
(50X15)+(150X12)+(35X4)

(25X15)+(100X12)+(30X4)

650+1800+140
= x  1 0 0

375+1200+120

2590
= 1695  X 100 = 152.8
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(12.4)

CStQit
I = ~~,Q,,  (‘O”)

. . . . . . . . . . . . . . . . . . . . . . . . . . . . . (12.5)
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It = f (100) (12.6)
0

Qt = ¶l%1IM~Pd~1;7%Pd~W"t

Qo  = d3wl~~~hI~~~l~

I, = &l&l~aJl~a3~~l~Gt
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It
CQit= cei,  (100) . . . . . . . . . . . . . . . . . . . . . . . .(12.7)

Qit = l.h.khdni~R~  i  lU%l t

Qio  = ¶l?lJl~liiOr~lti~~  i IUTI~IU

I, = CQitsoc x1oo . . . . . . . . . . . . . . . . . . . . . . . . . . .(12.9)

It = CQith
~QioSt  x loo

. . . . . . . . . . . . . . . . . . . . . . . . . . .(12.10)
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h7d0 = 1
- x  1 0 0
CPI

(12.11)
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